N = 0 &8 AF S & Al A
20108 = 20la LBSIAH L JIEISEESH SLSs ~ F2
SN BYS
M =0IKX J|et AsHELSE)
el RE FUIME 82 XA (e a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
ER=] 167,840 107,172 60,668
Al 2,275
- 165,565
FOIXAl D8 LdeH(ELS) 69,361 66,676 2,685
Al 2,275
- 67,086
AESH FO0MEH B8 =4 12,786 11,786 1,000
28 HAIR2Y 12,786 11,786 1,000
201 B3| 10,786 11,786 A 1,000
02 ss29Hl 10,786 11,786 A 1,000
oRERZ 90,000 12& 1,080
OdII2 330,000& x12& 3,960
Q& otx==R=2 30,000& x12& 360
OX =S XAl 35,0002 *1CH 35
OXNsx B2 370,000& = 1CH 370
OO0IEX 282 65,000& = 1CH 65
OXNsSx B MEREE= 50,000& *x23| 100
oA sSHINEE2 35,000& *23] 70
OROINE I AIAE 100,000& = 12& 1,200
Ossgs AIE= 8,800& x12& 106
O 2x+ 74l 90,000& *12& 1,080
OO0IEX+ sXIb] 30,000 12 360
OAH2 RAH| 2,000,000& 2,000
401 AISHIL L] 2,000 0 2,000
01 Al&HI 2,000 0 2,000
SA QU B0 BT A} 2,000,000& 2,000
FOIXXIE 29 50,000 48,640 1,360
DIRANE &3 2,960 1,600 1,360
201 Et24 | 2,960 1,600 1,360
01 AtS22telyl 2,960 1,600 1,360
OsSetad) K2 170,000 8 1,360
ORIAANELZ MBI 1,600,000& 1,600
ZFOIXIXIE &435 2,000 2,000 0
201 B3| 2,000 2,000 0
01 At22teldl 2,000 2,000 0
OF0UXNX RIS &A= 20,000& x20H *53| 2,000
s - HUHEN 29 45,040 45,040 0
301 YerBA3 45,040 45,040 0
05 S-2l-et&Esas2Ma43 45,040 45,040 0




SN BYS
M FOUXX DL 2d3HELS)
el FLUXXE 2Y o Mg
SN I SRI(S) - NRAY - B sk S 2
0 & 24
(OF=FSEalsy 42,640
ollgxdg 200,000& 13 »12& 31,200
SR 200,000& 13 »23| 5,200
oo F A 20,000 13 =23 123 6,240
Ogt&E =4 25,000% »48H »23| 2,400
Jh Rt etdE SUl S0 6,575 6,250 325
Al 2,275
- 4,300
HZE s = 600 800 A 200
201 et 600 800 A200
01 AtS 22/t 600 800 A200
O=302s=F 600,000& 600
9E - MEHYs O 2,700 2,700 0
301 Lpt8asg 2,700 2,700 0
04 NtELHHIA2HY 1,000 1,000 0
OXsgHUA 1,000,000& 1,000
12 JIEtE2 43 1,700 1,700 0
OMOS¥4 2 1,700,000& 1,700
=S K& 1,000 1,000 0
301 LprE A3 1,000 1,000 0
10 HALAHIZ &S 1,000 1,000 0
OXM= - TatHAL ZO A &bl 1,000,000& 1,000
oS YAHIH 2,275 1,750 525
Al 2,275
206 2| 2,275 1,500 775
Al 2,275
01 Mz bl 2,275 1,500 775
OXsyac dAANY MHEHI 2,275,000& 2,275
Al 2,275
HY2AHH(BLS) 98,479 40,496 57,983
ol 2| 67,503 9,920 57,583
SN2y o2y 67,503 9,920 57,583
101 el ] 43,515 0 43,515
01 B 43,515 0 43,515
OAt 2R+ 18,915
obg 9,796« 1H+27 Al 2tx 123 3,174
S= 8,3122 x1G»27 Al 2tx 12 2,694
o7g 7,457 3 +x2Hx27 A 2hx 12 4,833
=88 6,682 x2H «27 Al 2+ 12& 4,330
=9 5,993 «2H 27 Al 2tx 123 3,884
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SN ESYS
HH: NS AAL(SYS)
el el o] (29l @8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
SEEERT] 130, 0002 582 * 122 12,480
ORs2EH) 12,120
o52 140, 00024 * 12 * 122 1,680
©63~72 130, 0002 53 * 128 4,680
=830l 120,000 *4% » 128 5,760
203 REZH| 8,928 9,920 £992
01 J2SYYLEY) 5,940 6,600 660
os® 6,600, 0002 » 12 x00% 5,940
02 MEItANYRFT| 288 320 N7
ORAAIIE & 40,0002 <82 «90% 288
M PHSYYRETY 2,700 3,000 A300
SLVETEL 250, 000! * 122 *00% 2,700
204 P 15,060 0 15,060
NIEEEEERSTET 1,800 0 1,800
OxNzg YR+l 1,800
o523 (12 150, 00021 » 12 x 128 1,800
02 =32 XM 13,260 0 3,260
SEELES 13,260
o52 250,000 1212 3,000
o62 155, 00021+ 12+ 122 1,860
=78 140,0002 224 * 128 3,360
©83-93 105, 0002 *42 » 128 5,040
ST 30,976 30,576 400
S BIEET 30,976 30,576 400
201 2ere | 5,536 5,536 0
01 AtR22lt] 5,536 5,536 0
ORM2Y Jl=+8H| 40,0002 +82 3,520
Ollzgesd S| 252,000 +82 2,016
202 04t 23,040 23,040 0
01 =UHoit] 23,040 23,040 0
OJlzgess oftl 240,002 +82 12 23,040
405 &t St 2,400 2,000 400
01 MHAYSEFHSH) 2,400 2,000 400
OSZA SHS AL DA 300,0002 +8CH 2,400




SN SBS
HE: FOINXIISLHSTE)
SRl HEE FOIMH B E4 (25l &2
_ _ - HEE =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
szs 185,427 132,134 53,293
Al 18,275
2 167,152
ZOINRIDIEHYSH SR ES) 89, 125 90,638 A1,513
Al 18,275
2 70,850
WHe FOME Y E4 8,870 13,968 A5,008
Aas HARY 8,870 13,968 £5,008
201 YEr2 Yyl 8,870 8,968 IN:
02 IT2YH| 8,870 8,968 A98
ORBL3 130,000 %122 1,560
er:Bll=E 300,000% 122 3,600
O - 5t+£23 57,0002 +6 2 942
OOlEXEER 60,0002 * 14 60
o2 BAMARL3 60,0002 23] 120
ORAHRHHIAIAE 100,000 %122 1,200
OAHoIStva 4l E 19,0008 * 122 228
OO0IExt R 30,0002+ 122 360
OSAHAER Y| 800, 0002 800
ZOINKIE 2 73,780 70,420 3,360
Al 16,000
2 57,780
DIRAR 23 2,960 1,600 1,360
201 YBr2 ) 2,960 1,600 1,360
01 At 2,960 1,600 1,360
OSIRAS 23 M 1,600,000 1,600
OsezxL2I| 224 70,0002 +8 % 1,360
ZOINXIS B 2,000 2,000 0
201 Yer2 Y| 2,000 2,000 0
01 A2l 2,000 2,000 0
OFANXAVS 519 && g
20,0002 *20 x5 2,000
ZoINAE ZRIY 29 20,000 18,000 2,000
Al 16,000
2 4,000
201 Yer2 Y| 3,000 3,000 0
Al 2,250
2 750
01 At 3,000 3,000 0
OF0IXx3 29 3,000,000 3,000
Al 2,250
2 750
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SN STES
A RIS LHERE)
el WRBID QFE SU 2E (e
o B . ol (5 o o FSJE =
SN-EHH . SH(BH) - HPAY - BE2 Ao il i~ o B2
QI E YA 2,275 1,750 525
Al 2,275
206 T2 bl 2,275 1,750 525
Al 2,275
01 T2l 2,275 1,750 525
ogelg 27l S 2,275,0002 2,275
Al 2,275
HH2HAY(SHS) 9,302 41,49 54,806
oIz 2| 67,726 9,920 57,806
SN2 oyl 67,726 9,920 57,806
101 Q1248 43,738 0 43,738
01 24 43,738 0 43,738
OANE 24 19,138
o53 9, 79621 ¥ 12 x27 Al 2tx 122 3,174
o623 8,31221+124#27 Al 24+ 122 2,694
o723 7,457 x2 % 527 Al 24128 4,833
o83 6,6822 x3% *27 Al 2t 128 6,495
o923 5,993% 1 *27 Al 2t 12 1,042
OF-LI =N 130, 00021 +82] 1224 2,480
ORERZY 12,120
o53 140,0002 1% * 122 1,680
c63-72 130,002 x3 * 122 4,680
>820| 3t 120, 0002 *4% * 122 5,760
203 YRFAY| 8,928 9,920 A992
01 JBSYAREAY| 5,940 6,600 660
os% 6,600, 0002 * 12 %90% 5,940
02 HRATNMAREAY] 288 320 AB2
ORAAIIT A 40,0002 +8 *90% 288
04 BASYAREAY| 2,700 3,000 A300
ORNZR2Y 250,000 *122 *90% 2,700
204 FRagAY| 15,060 0 15,060
01 HMZALLBAY| 1,800 0 1,800
ONzZ YL+ A| 1,800
o523 150,00021 1% * 122 1,800
02 HZEEY| 3,260 0 13,260
SEELES 3,260
o53 25000021 *12§x 128 3,000
o623 155,0002 1% * 122 1,860
o723 140, 00021 x2% * 122 3,360
-83-92 105, 0002 *484 x 122 5,040
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SN SBE
Y HHSAAL(SEE)
&t D=3l
S HE - S(EH) - NRAY - BES Of) &t o4 S
0f 4 o
Jl=&Hl 28,576 31,576
FAMII=3H 28,576 31,576
201 Let2d| 5,536 5,536
01 AtE22(Hl 5,536 5,536
ORMEE JlE =2H| 440,000& 8% 3,520
OJl=2gR+8 S| 252,000& 8% 2,016
202 O4Hl 23,040 23,040
01 =Wl 23,040 23,040
O=WHHbI 240,000& ~8H ~ 123 23,040




FA UHES

M FOUXXD|IB2S(UNES)
el BB FOMEH 8 X4 ECR-ED
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
¥ s 238,770 162,392 76,378
Al 20,325
- 218,445
FOURXDIBHZSHUHES) 129,596 120,284 9,312
Al 20,325
- 109,271
PHE FRIHH 2#F T4 17,441 12,204 5,237
2E IMN2FE 17,441 12,204 5,237
201 LetEIH| 12,441 12,204 237
02 =234l 12,441 12,204 237
OoRERS3 150,000& x12& 1,800
oXMIIe3 360,000& <128 4,320
O4,ot=Ex= 100,000 «6 & 600
OXt= XAl 27,000 x1CH 27
OkXtsxt B2 370,000 *1CH 370
O0lEgax BE8& 65,000 +1CH 65
OXtsxt sdMdREZ 75,000& *23] 150
Oz M RE=3 50,000& *23| 100
ORI TEHAAE 100,000& x12& 1,200
O3AoIE TVl = 10,000& = 12& 120
OdUlss 389,000& 389
O3Ex S ALl 100,000 *1CH*123 1,200
O0IEXt RXYI 25,0002 «1CH« 128 300
(OFal—2=PN|=] 1,800,000& 1,800
401 A &HIZL 2048 5,000 0 5,000
01 Al&H| 5,000 0 5,000
OS At S8 5,000,000& 5,000
FUXXE 29 104,730 101,180 3,550
Al 18,000
- 86,730
UANMF g2 4,750 1,200 3,550
201 LBt 1,400 1,200 200
01 AFR 22l 1,400 1,200 200
OLENZE &2 MBI 1,400,000& 1,400
405 THaks S| 3,350 0 3,350
01 T ESSHSHI 3,350 0 3,350
OZAMESD] 350,000 *1CH 350
O&E K= A 3,000,000 = 1CH 3,000
=0T XI5 &3 2,000 2,000 0
201 LBt A Y| 2,000 2,000 0




FA UHES
FHE: FORXDIBHLSH(HES)
|

el FLUXXE 2Y (&9 HM
- = — N e
SAN-ZH-SA(FA) - NFAY - BES (il & OH ‘Oﬂ/i\_Fo” Hlw &2
01 AtSR22/Hl 2,000 2,000 0
OFQUXNXAEE &S5 20,0003 »25E 43 2,000
FOXXg Z20d 29 24,000 24,000 0
Al 18,000
- 6,000
201 B3| 5,000 5,000 0
Al 3,750
- 1,250
01 AtR22/Hl 5,000 5,000 0
OxFoxxs 29 5,000,000& 5,000
Al 3,750
- 1,250
301 et as 18,000 18,000 0
Al 13,500
- 4,500
12 JIEt2 &= 18,000 18,000 0
OF2Xxs 2F ZAt== 16,000,000& 16,000
Al 12,000
- 4,000
OF2I X3 NHESAR AHIE4
2,000,000& 2,000
Al 1,500
- 500
405 KHAHFESHI 1,000 1,000 0
Al 750
- 250
01 ML SZHEHI 1,000 1,000 0
OFoXxs 28 2887 1,000,000 1,000
Al 750
- 250
s.8EH 2 73,980 73,980 0
301 etEas 73,980 73,980 0
05 &-2l-tEes:=2as 73,980 73,980 0
Os&=H 68,880
ollzsg 200,000& *21H 123 50,400
cal= 200,000& +21H »23] 8,400
o3| o &MY 20,0003 x21H *23| x 12& 10,080
Obt&E =< 25,000 « 102 *23] 5,100
RSt etEE sUl S0 7,425 6,900 525
Al 2,325
- 5,100
Z2ZE =8 xd 1,100 1,100 0
201 LBt 3| 1,100 1,100 0
01 AtR 22/t 1,100 1,100 0




FA UHES

HE: OIS E(HES)
Sl JHRGHD orEE Sl SIS (el &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
ORUSESZASE 800, 0002 800
Ook43t 2| 2E7Y 300, 0002 300
9z MEHs 02 It 3,000 3,000 0
01 YsrBA 3,000 3,000 0
04 NSLHHAS L] 1,000 1,000 0
OXSLHHA 2| 1,000,002 1,000
12 JIEHR A S 2,000 2,000 0
OMOtSLIHe 24 2,000,000%! 2,000
F0158 X 2 1,000 1,000 0
301 YB3 1,000 1,000 0
10 BAFAYI 243 1,000 1,000 0
OIS - 2518AL HOIXH &6 1,000,008 1,000
FoNE YR 2,325 1,800 525
Al 2,325
206 W& 2,325 1,800 505
Al 2,325
01 T2 2,325 1,800 505
Oweg R7Hl S 2,325,0002 2,325
Al 2,325
HHSHFU(HES) 109, 174 42,108 67,066
ol 2 | 76,226 9,960 66,266
SN2Y o2 76,226 9,960 66,266
101 2121t 49,922 0 49,922
01 24 49,922 0 49,922
ONe 2R 4 22,082
o532 9,796%1* 12 x27 Al 24+ 122 3,174
o632 8,3128 %2 x27 Al 2H+ 122 5,387
o732 7,457 34427 Al 2+ 122 7,249
o83 6,682 %2 %27 Al 24+ 122 4,330
©93 5,9932! %1% %27 Al 24+ 122 1,942
OZUZAY| 130, 00024 *9% * 122 14,040
OREREY) 13,800
o532 140,000% 12 122 1,680
o63~72 130, 00021 #4% * 122 6,240
©83-92 20,0002 3% * 122 4,320
oI5 13~73 130, 00094 *1% * 122 1,560
203 PR =Y 8,964 9,960 £996
01 JlZ2SY A=Y 5,940 6,600 2660
os%d 6,600, 000! * 12 +00% 5,940
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SH: HES
Mm: B2 A ()
ool QE 2|
SN EY O (BH) - MRAY - BLS Aol Bl
Gil & o
02 RIS SF=EY| 324 360
OX A &= 40,0003 x9Z x90% 324
04 EA2ISRFEHI 2,700 3,000
ORMZIHRFAI 250,000 * 121 & *90% 2,700
204 X243 AY| 7,340 0
01 HHUZ YR 1,800 0
OX#Z Y2+ 1,800
SE= 150,000 *1Z 123 1,800
02 Mg EXH| 15,540 0
OS2 x| 15,540
obg 250,000& x1H «12& 3,000
SL= 155,000 »2H «12& 3,720
S¥e= 140,000 *3F x 123 5,040
=8=~9= 105,000 *3F » 123 3,780
|22 32,948 32,148
fAII=2Z38| 32,948 32,148
201 Let23d| 6,228 6,228
01 AtE222|Hl 6,228 6,228
ORME2Z JlE2+2Hl 440,000& x9Z 3,960
OJ|2gesad Sl 252,000& »9H 2,268
202 O4dl 25,920 25,920
01 =LHOA b 25,920 25,920
OJl=g 240,000 x9H « 124 & 25,920
405 THaHE S 800 0
01 Xtaree 800 0
OMRE 500, 000& » 12 500
OMRE 300,000& *12¢ 300
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M BaE
M FOUXX D8 23HESS)

CIol: BB FOIME BAXA CLRE
A BB O(B) - NEAY - BAS Of o e Hl R =2
245 283,307 212,808 70,499

Al 18,525
- 264,782
FOIRR DI8t ZeH(E+S) 164,900 167,088 A2,188
Al 18,525
- 146,375
YPHE QMY #FXH 12,655 13,368 AT13
2 FA2S 12,655 13,368 AT13
201 Let23y| 12,655 13,368 AT13
02 22234l 12,655 13,368 AT13
OoRERS3 250,000& = 12& 3,000
OrSPIR=A=, 250,000 x12& 3,000
OXtS XAl 35,0003+ 1CH 35
Odol+=E 23 30,000& x12& 360
OFEXNEE R 335,000 = 1CH 335
OO0IEXt B8 57,0003 »2CH 114
OXtsxt sdMREZ 50,000& *23] 100
Odg a3 Rg3a 60,000& *23] 120
ORI ZHI & XAl A El 100,000& x12& 1,200
OAHOIETV =tz 18,700& «12& 225
(@FSNNF=2= 1,166,000& 1,166
Ost=xt | Xd| 100,000& = 12& 1,200
O0IEXt RXY| 25,0003 123 300
OdE N2 =AYl 1,500,000& 1,500
F0IXXg 2F 144,720 146,720 A2,000
Al 16,000
- 128,720
QR AREZE 1,400 1,400 0
201 LBt AH| 1,400 1,400 0
01 AtE222|Hl 1,400 1,400 0
ORIAAZEZ MBI 1,400,000& 1,400
FOXXE 435 2,500 2,500 0
201 LBt 2,500 2,500 0
01 AR 22| 2,500 2,500 0
O X933 SEF&E 20,0008 25 +53] 2,500
FOXXE T2 29 22,000 24,000 A2,000
Al 16,000
- 6,000
201 LBt 6,000 6,000 0
Al 4,363
- 1,637




SN BAS
HE: FOIKX JIB YB(BLE)
cHol: FOITRIE 29
_ _ MNuE o
Ao~ S2(E0) - MPAY - BYS Ao il ot o
01 AL 22l 6,000 6,000
OFURE 29 6,000,0002! 6,000
Al 4,363
2 1,637
01 YerBA2 14,000 16,000
Al 10, 181
2 3.819
12 JIEtE A3 14,000 16,000
OFOINAIS 2% 2A4+Z 10,500,008 10,500
Al 7,636
2 2,864
OF LIRS RBZAX AbI24
3,500,0002 3,500
Al 2,545
2 955
401 AlEBIZ 2 ThY| 1,000 1,000
Al 727
2 273
01 Al 1,000 1,000
OFoIXxs 29 ANa2s 1,000,0002 1,000
Al 727
2 273
405 RtarE S| 1,000 1,000
Al 729
2 271
01 MMUSEH S| 1,000 1,000
OFoIRAE 2% 257 1,000,0002! 1,000
Al 729
2 271
S B 2Y 118,820 118,820
01 YerEa3 118,820 118,820
05 S-2-pBSENZ 18,820 118,820
Osz+g 111,520
ollzag 200, 0008 +34% « 122 81,600
S E 200, 0002 *34% x23| 13,600
oECIEMAT  20,000%%342%25+128 16,320
OrE+g 25,0002 146 +23] 7,300
THRSD EE SU RS 7,525 7,000
Al 2,525
2 5,000
st 028 =4 800 800
201 Ysr2 | 800 800
01 At 800 800
O=SESXNEE 800, 0002 800
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2N BaS
Hu: FOIGK Ol A (PHE)
Sl JHRot erME SU 2SI (98
X XH ol (s (=] o HASZ OH I|_‘|LI;=|_|‘:_ JF
(Al

HE - MEHER= 0SItR0I 3,200 3,200 0
301 Let2a= 3,200 3,200 0
04 HEdHUHIA=2EHI 1,000 1,000 0

OXNsSLHUHA 24l 1,000,000& 1,000
12 JIet24 = 2,200 2,200 0
OMOISZSHE 24 2,200,000& 2,200
2lstet K& 1,000 1,000 0
301 LeEt2H S 1,000 1,000 0
10 HAIAHIE S = 1,000 1,000 0
OHMSE - St A 0 A &H| 1,000,000& 1,000
FoAs g9y N2 2,525 2,000 525
Al 2,525
206 M= Hl 2,525 2,000 525
Al 2,525
01 =4l 2,525 2,000 525
OgAEHl JIXM(FFHI) 2,525,000& 2,525
Al 2,525
HE2IHH(E=S) 118,407 45,720 72,687
gl 82,687 10,000 72,687
A28 8 Edgt 82,687 10,000 72,687
101 el 24| 55,087 0 55,087
01 = 55,087 0 55,087
OAZte 22+ 24,247
obg 9,796« 1H+27 Al 2tx 128 3,174
Sdo=) 8,312 2H 27 Al 2t+ 123 5,387
o7g 7,457 3 x3B 27 Al 2tx 123 7,249
o8 6,682 x3E *27 Al 2tx12E 6,495
Si= 5,993 x1H 27 Al 2tx 123 1,942
OdAz= Al 130,000& 10E 123 15,600
Ouns=E x| 15,240
obg 140,000& 18+ 123 1,680
Sl =agg= 130,000& 5 122 7,800
=8=0lot 120,000& 3 » 122 4,320
=J|s8=~10= 120,000 «1H <128 1,440
203 ¥ =&l 9,000 10,000 21,000
01 JI22FLFF=LHI 5,940 6,600 A660
os& 6,600,000 12 *90% 5,940
02 ZEIMIMMPLF=AH| 360 400 A40
OXJAIN&Z 40,0003 102 %90% 360
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2H: B4S
B MES AR (PHE)
ool QE 2|
S E O (EH) - MBAIY - B s e
. = Tl (2 ° . [= Bl e =5 0:”/‘l|_%
04 EARISRFEH 2,700 3,000
ORMZEHZ2Y 250,000 * 1270 & *90% 2,700
204 XA 18,600 0
NEEECE BNl 1,800 0
Oxzg ¢ 1,800
S =10 150,000& x1E 122 1,800
02 Mg EXH| 16,800 0
OASEZ 16,800
obg 250,000 x1E«12& 3,000
SLr= 155,000 x2H 12 3,720
o7= 140,000& »3H «12& 5,040
o8=~9= 105,000& x4 H «12& 5,040
224l 35,720 35,720 0
FMNII2ZHI 35,720 35,720 0
201 LBt 6,920 6,920 0
01 AFR22lH] 6,920 6,920 0
ORM2E JlE= 440,000& *10H 4,400
OJ12g= = 252,000& «10Z 2,520
202 (4 H| 28,800 28,800
01 =Wl 28,800 28,800
oJ|l2ge 240,000 108 1204 & 28,800
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2N REHS
HMH: FOINA G YBH(RHE)
el ANE FDIME BY XA (el @)
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
2Es 216,429 159,682 56,747
Al 18,325
- 198, 104
FOIXX] DIt A EHS) 120,350 121,186 A\ 836
Al 18,325
- 102,025
AESH FO0MEH B8 =4 11,065 11,126 A6
2EEAIESH 11,065 11,126 A6
201 B3| 11,065 11,126 A6
01 AtR22tell 1,074 1,074 0
OsdI 88 =22 80,000& x12& 960
O HIOIZAMN =42 114,000& 114
02 s394l 9,991 10,052 A6
oRERZ 123,500& *12& 1,482
Q&2 351,000& x12& 4,212
O&aot=E23 40,000& x12& 480
OO0IEXEE = 57,0002 = 1CH 57
OHESZMNERE = 25,000& *x23| 50
SO X EHIAIAE 100,000& *12& 1,200
OAHOIETV =dlE 27,500& x12& 330
OO0lEX+ &dl. = Xlbl 40,000& x12& 480
OHE =Xl 1,700,000& 1,700
FOXXIE 29 102,360 103,460 A 1,100
Al 16,000
- 86,360
DIRANE &3 1,500 1,600 A 100
201 Yere2o| 1,500 1,600 A100
01 AP 22l 1,500 1,600 A 100
ObANELZ MABLI 1,500,000& 1,500
FOIXXIE 243} 2,000 2,000 0
201 Y2y 2,000 2,000 0
01 At Zelbl 2,000 2,000 0
OFUXNX ARG A+ 20,0003 *x20H 53] 2,000
ZOIXXE ZRIY 2 22,000 23,000 A 1,000
Al 16,000
- 6,000
201 dEt24d| 5,000 2,000 3,000
Al 3,636
- 1,364
01 AP 2elbl 5,000 2,000 3,000
OF0Xxg 24 5,000,000& 5,000
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S 2
Za: xel
SRS

SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0 & 24
Fo syt N3 2,325 1,800 525
Al 2,325
206 =4l 2,325 1,800 525
Al 2,325
01 Mz bl 2,325 1,800 525
OXNsYAE HAAY WS4 2,325,000 2,325
Al 2,325
HY2AHU(RES) 96,079 38,496 57,583
QI 2 67,503 9,920 57,583
FAEE A2AY| 67,503 9,920 57,583
101 Q1 Z4H| 43,515 0 43,515
01 = 43,515 0 43,515
OAzZte 22+ 18,915
obg 9,796 x1H+27 Al 2tx 123 3,174
1= 8,312 x1H 27 Al 2tx 123 2,694
o7g 7,457 3« 2B#27 Al 2tx 128 4,833
o8z 6,682 2B «27 Al 2tx 123 4,330
S = 5,993 «2H 27 Al 2tx 123 3,884
OZ M GAHI 130,000& ~8H 123 12,480
Ousg2=Hl 12,120
obs 140,000 x1H « 122 1,680
ob=~7a 130,000& 3 12 4,680
=8=0l|at 120,000& 3H +12& 4,320
=J|5828~102 120,000 «1H «12& 1,440
203 HRF4Hl 8,928 9,920 AN992
01 JI22FLR=LHI 5,940 6,600 A660
os& 6,600, 000% » 12 x90% 5,940
02 HAIMNAMHRFAHI 288 320 A32
O AINEH 40,0002 *8H *90% 288
04 RN2IHRFLH 2,700 3,000 A 300
ORMEH2Z 250, 0003 * 12 x90% 2,700
204 R AH 15,060 0 15,060
01 Mg HP= 1,800 0 1,800
OXMg YL 1,800
o532 (D123 150,000 x1H +12& 1,800
02 Az E2XH 13,260 0 13,260
O 2=l 13,260
obs 250,000 x1H«12& 3,000
S10= 155,000 x1H +12& 1,860
o7= 140,000 x2H 128 3,360
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SA: BE2S
a: FOIXK JI8 Y3
ol TS FOIME B 2 HR)
_ - FSIEL =
S - F B S (3]) HeS arey i =
== 175,759 125,931 49,828
Al 18,275
- 157,484
FOX DI Y B=S 83,476 87,137 1,339
Al 18,275
= 70,201
8 FOIME BY X 15,941 13,877 2,064
25 BASY 15,941 13,877 2,064
201 ety 13,341 13,877 ~536
01 At 22l 1,980 1,980 0
Ogstzel 82 242 165,000 * 122 1,980
02 T2 11,361 11,897 ~536
ORBeZ 50,0002 122 600
omIIQD 480,000 * 12 5,760
ONst+ER3 150, 000! *6 2 900
O0lEXZER 60,0002 1CH 60
oesINLRYS 80,0002 %23 160
OAERSRLREES 223, 24021 %13 224
ORUFKIZHIAAL 2l 100,0002 122 1,200
OHOIETV 2812 10,0002 122 120
oaUss 977,000%! 977
OO0IEXS X I 30,0002 122 360
OAERX I 1,000,0002 1,000
401 AlHIL 2O 2,600 0 2,600
01 A&l 2,600 0 2,600
OSAH 35 HH2t & &HH ZLBA
2,600,0002 2,600
Xt %18 29 66,210 67,010 800
Al 16,000
= 50,210
ANE 23 1,400 1,200 200
201 ety 1,400 1,200 200
01 At 2tel| 1,400 1,200 200
OSIRNE 23 1,400,0002 1,400
DIRtXIS &5t 2,000 2,000 0
201 Ler2gy| 2,000 2,000 0
01 At el 2,000 2,000 0
OFQIXXI?IY 20,0002 *20 %53 2,000
OIS Z2E 21,000 22,000 A 1,000
Al 6,000
= 5,000
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SN BES
M =0IKX J|et AsH(EA=ES)
SRl RG] ot™st SUl S| (cte- &
SA-HH O (SIH) - NEAY - BaS 0f Ao Soe HRZ2
ON= - 23HAF A A H| 1,000,000& 1,000
Fol sy & 2,275 1,750 525
Al 2,275
206 MM &Hl 1,275 1,750 NA4T5
Al 1,275
01 M=Hl 1,275 1,750 NA4T5
oed ME 7 1,275,000& 1,275
Al 1,275
405 KHAFFSHI 1,000 0 1,000
Al 1,000
01 M =S F SHI 1,000 0 1,000
ogde) 2 500, 000& *2CH 1,000
Al 1,000
HMSHAH (HE=2S) 87,283 38,794 48,489
ol 2 A 62,279 9,880 52,399
ENE2Y 823 | 62,279 9,880 52,399
101 o1 21H| 39,167 0 39, 167
01 2% 39, 167 0 39,167
OAZtIZ2Y 17,447
obhg 9,796F *x1H*x27 Al 2t 12E 3,174
SY= 8,312 x 1H *27 Al 2t+12& 2,694
o732 7,457& x3H *27 A 2t 12& 7,249
o83 6,682 x2H %27 Al 2tx12& 4,330
OFAHZgAH| 130,000& »7H =128 10,920
Ous2 x| 10,800
obhg 140,000& x1H = 12& 1,680
oba~72 130,000 *4H x12& 6,240
o82~92 120,000 2 = 12& 2,880
203 PFR=&| 8,892 9,880 988
01 2SI PR =4H| 5,940 6,600 A 660
os® 6,600,000 * 1 x90% 5,940
02 HJAINSE 2= 252 280 N 28
(OESEEPNPIRNES 40,000& x7H *90% 252
04 EASIHRF=AH| 2,700 3,000 A 300
OFRAETH2Y 250, 000& x12& *90% 2,700
204 AR HEH| 14,220 0 14,220
01 B ZHRHAFH| 1,800 0 1,800
O&MZ RHFH| 1,800
obh3(J|&& 150,000& =1 = 12& 1,800
02 g2 12,420 0 12,420
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M =S
A HH2IFGU(FES)
chel: ol Y| (9 E2
- _ _ pSNE N
SH-EFHHA(FA) - NIRAE - BES algel Om;g; Hws2
O&ZE x| 12,420
obg 250,000 *1H = 12& 3,000
o635 155,000& *1H +12& 1,860
o73 140,000 *3H =128 5,040
o8~ 105,000& »2H = 12& 2,520
| =ZHl 25,004 28,914 A3,910
2AII=238l 25,004 28,914 A3,910
201 Yty 4,844 4,844 0
01 AtR2t2| 4,844 4,844 0
ORAM2 440,000 x7H 3,080
(@PIR=3 252,000& 7Y 1,764
202 044l 20,160 20,160 0
01 =LHOA b 20,160 20,160 0
OJl=g 240,000& x7H x12& 20,160
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SN HES
HE: FORXX Ol Z2SHERS)

ol A FME B8 x4 (et =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
g2ExZs 167,163 119,402 47,761

Al 16,275
- 150,888
FOXX DB Z2H(LES) 79,880 83,118 23,238
Al 16,275
- 63,605
HES FO0HEH &F =4 12,675 18,338 25,663
2E IMN2FE 12,675 18,338 25,663
201 LetEIH| 12,675 12,388 287
01 AtR22/H] 3,978 3,978 0
OYstztel 88 =2 165,000& x12& 1,980
Oosdll 84 === 154,000& <128 1,848
OsZIl BIIBAMN =2 150,000& 150
02 =234l 8,697 8,410 287
ORBER= 50,000& *12& 600
OoMIIe3 250,000& x12& 3,000
O4ol=t 2= 120,000& «6& 720
OO0lEx E8= 57,0002 = 1CH 57
OdzE SFMERE 3 95,000& *22l 190
Oz= USRLEFE=S 249,400& *12] 250
ORI THEHIAIAE 100,000& x12& 1,200
OF; [ =g k=1 8,800& 128 106
(@FS-IelFSE=-Reilla] 48,000& *13] 48
OaUEs 1,166,000& 1,166
OO0IE X =Xl 30,000& 128 360
OZz= SAldl 1,000,000& 1,000
FeXxzE 22 60,730 58,530 2,200
Al 14,000
- 46,730
ENF 25 1,400 1,200 200
201 LEH2HH| 1,400 1,200 200
01 AtE222/Hl 1,400 1,200 200
OIANMZ 2= MBI 1,400,000& 1,400
FUXX g 24835 2,000 2,000 0
201 LetHY| 2,000 2,000 0
01 AtR 22/t 2,000 2,000 0
OFQXNXIAEs &S5 20,0003 20 +52 2,000
ZONXE ZRIY 29 19,000 17,000 2,000
Al 14,000
- 5,000
201 LBt 3| 3,000 3,000 0
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M HES
M FOXX JIEE BSHEES)
ol FOXXE 22 ?EA
AN - XM . cle (s HEAY . N2 A} OH HEE =}
Al 2,000
- 1,000
01 AbR22lH| 3,000 3,000 0
O=0IXtXg 29 3,000,000& 3,000
Al 2,000
- 1,000
301 et2 4= 11,000 10,000 1,000
Al 8,250
- 2,750
12 JIEtE 43 11,000 10,000 1,000
OFUXXIE 28 LAt 9,000,000& 9,000
Al 6,750
- 2,250
O=0IXtx3 A&
2,000,000 2,000
Al 1,500
- 500
401 AlEHIZ 2 1,000 2,000 A 1,000
Al 750
- 250
01 Al&t| 1,000 2,000 A 1,000
OFoXXg 28 MEE 1,000,000& 1,000
Al 750
- 250
405 Kot S| 4,000 2,000 2,000
Al 3,000
- 1,000
01 XML 2EFHSHI 4,000 2,000 2,000
O=x2Xtxls 24 25+ 4,000,000& 4,000
Al 3,000
- 1,000
=.BEA 2 38,330 38,330 0
301 LEtE A= 38,330 38,330 0
05 E-cl-EEEsEas 38,330 38,330 0
os&=+d 36,080
ollz=¢ 200,000& *11Z 123 26,400
&3 200,000& 111G »23| 4,400
o3 o &MY 20,0003 x11H *23| 123 5,280
Ot ¢ 25,0003 x45F x23| 2,250
JiRZot etMEt SHIBHSD] 6,475 6,250 225
Al 2,275
- 4,200
Z& 0t 838 =4 500 800 A 300
201 LBt A Y| 500 800 A 300
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2N HES
[u]
ol

o
XN XH- X
HE: =

IXFX] Dler ZEHLES)
CHel: JHR!EID AT SYRHS) (9 &e
_ _ pSNE e
NS H2A(SH) - MRAY - BES e ‘@Eiﬁ 2
01 AlR2teltl 500 800 A300
O=02=xXEE 500,000 500
A YUY o= D2 BRI 2,700 2,700 0
301 LerEA2 2,700 2,700 0
04 XstHia gy 1,000 1,000 0
OXtsgHne 294 1,000,0008! 1,000
12 JIEtE A2 1,700 1,700 0
OMOIS goitie 24 1,700,000} 1,700
Diste Xe 1,000 1,000 0
301 LerE A 1,000 1,000 0
10 SAIAHIEAS 1,000 1,000 0
OXMZ - 2513 A HOK AWl 1,000,000 1,000
8 Xe wos N 2,275 1,750 525
Al 2,275
206 X2l 2,275 1,750 525
Al 2,275
01 M 2,275 1,750 525
og | 2,275,0008! 2,275
Al 2,275
NS AUAY| (LS 87,283 36,284 50,999
oleie oyl 62,279 9,880 52,399
2M2Y 29y 62,279 9,880 52,399
101 2I21H| 39, 167 0 39, 167
01 B4 39,167 0 39, 167
oA 2R4g 17,447
o532 9,796% %1227 Al 2+ 128 3,174
62 8,3122 12 %27 Al 2t + 122 2,694
o738 7,457 *32 %27 Al 24122 7,249
o83 6,68221 %22 x27 Al 2Hx 128 4,330
OFAZ Al 130,000 +7 * 128 10,920
OmE 2 ZH| 10,800
o532 140,0008! 14 %128 1,680
6272 130,000 *42 * 122 6,240
8293 120,000 *2% * 128 2,880
203 A=Y 8,892 9,880 1988
01 JZ2gAR=TY| 5,940 6,600 660
os% 6,600, 000! * 124 %90% 5,940
02 HIAIMARETIY| 252 280 28
OR QAP & = 40,0002 *7 2 *90% 252
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M LTS
Y HEHAH(HES)
chel: ol 2oyl (el @)
SN EY O (BH) - MRAY - BLS Aol Bl 2
Ol &k
04 EARISRFEH 2,700 3,000
ORMZEHZ2Y 250,000 * 12 *90% 2,700
204 XM AH| 14,220 0
01 Mg AH| 1,800 0
SEEERE 1,800
S =10 150,000& x1E 122 1,800
02 Mg EXH| 12,420 0
OASEZ 12,420
obg 250,000 x1E«12& 3,000
SLr= 155,000 x1E «12& 1,860
o7= 140,000& »3H «12& 5,040
o8=~9= 105,000& »2H «12& 2,520
=2y 25,004 26,404
FMNII2ZHI 25,004 26,404
201 L2y 4,844 4,844
01 AtSR2t2ldl 4,844 4,844
ORMEZY 440,0003 +x7Y4 3,080
OJ12g= 252,000 x7H 1,764
202 O4H| 20,160 20,160
01 =LA bI 20,160 20, 160
oJ|l2ge 240,000 x7E « 12 20,160
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SN YFEIS
o FOINA JlE A
el BB ZF0IHE M)
M- B SR(B) - HRAY - BE S e 2
=1 216,642 153,776 62,866
Al 18,325
- 198,317
FOIRR Dl8t ZaH ("= 113,915 114,080 A 165
Al 18,325
- 95,590
ot FQIMEH &3 X 13,190 13,630 A 440
2E IMN2FE 13,190 13,630 A440
201 LetEIH| 13,190 13,630 A 440
01 AFR22lH| 1,660 1,640 20
O=x& 34 = 130,000& x12& 1,560
O=X& FII = 100,000& 100
02 2223l 11,530 11,990 A 460
OoRER= 110,000& «12& 1,320
O&IIR= 400,000& *12& 4,800
O&, ot 23 250, 0003 63 1,500
OO0lEx BE&= 57,0002 «1CH 57
OFab—- =P Fal =g 97,000& *23| 194
OREIEH 9= 100,000& = 12& 1,200
OAoIEg TV = 13,200 «12& 159
OO0IEX = 25,0003 20+ 12& 600
Oz=E %A 1,700,000& 1,700
=0 Xxe 29 93,850 93,850 0
Al 16,000
- 77,850
ANF &= 1,200 1,200 0
201 B3| 1,200 1,200 0
01 AtE222|Hl 1,200 1,200 0
ORANTF 1,200,000& 1,200
QIXtXI3 ot 2,000 2,000 0
201 LBt 3| 2,000 2,000 0
01 AtS22iHl 2,000 2,000 0
O=0IXtX =g
20,0003 x20H *53] 2,000
FOXXg Z20d 29 21,000 21,000 0
Al 16,000
- 5,000
201 B3| 4,000 4,000 0
Al 3,000
- 1,000
01 AtER22/Hl 4,000 4,000 0
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SN TS

HE: FOXX OB 2SH(EF1S)
el FLXXE 2Y (&9 HM
_ _ _ pofEN
SAN-ZH-SA(FA) - NFAY - BES (il & OH ‘Oﬂ/i\_Fo” Hlw &2
O=2 XXl =24 4,000,000& 4,000
Al 3,000
- 1,000
301 LEtEAF 12,500 12,500 0
Al 9,500
- 3,000
12 JIEtE2 4= 12,500 12,500 0
OF0XXIs 2% A=< 10,000,000& 10,000
Al 7,500
= 2,500
OFQRX & THESAA AHIE24
2,500,000& 2,500
Al 2,000
- 500
401 AlEHIL 20 2,000 2,000 0
Al 1,500
- 500
01 Al&H| 2,000 2,000 0
OF0XXIa 2 AMEE=s 2,000,000& 2,000
Al 1,500
- 500
405 KHaHFESH| 2,500 2,500 0
Al 2,000
- 500
01 T =SS HSHI 2,500 2,500 0
OFoXxs 22 2887 2,500,000& 2,500
Al 2,000
- 500
s - BEH 2E 69,650 69,650 0
301 EtEA = 69,650 69,650 0
05 -2l -tEes=2as 69,650 69,650 0
Os&E=+% 65,600
ol|lE2x¢ 200,000 «208 =123 48,000
cal= 200,000& 20X 23| 8,000
o3| o &MY 20,0003 x20H 23| 12& 9,600
Oogt& =4 25,0003 +x81H *23| 4,050
JHRGtD etMEE sUHl BHED| 6,875 6,600 275
Al 2,325
- 4,550
HZs 0283 =4 550 800 A250
201 LetEI| 550 800 A250
01 AtER22/Hl 550 800 A 250
O=02s FNES 550,000 550
M - MY o= 0FS Ot 3,000 3,000 0
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SN TS
B F0ITR| OlB ASHYFIS)
IES]

ol ot oHME SUl S0 (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
301 LEtEAZ 3,000 3,000 0
04 NHELHUHI 2L 1,000 1,000 0
OXNsSLHUHA 24l 1,000,000& 1,000
12 JIEtEA S 2,000 2,000 0
OMBOIS Z9lia 24 2,000,000& 2,000
=0t XA 1,000 1,000 0
301 et24a=3 1,000 1,000 0
10 HALAHIE &= 1,000 1,000 0
OM= - 23t AF Z 0 A+ A 1,000,000& 1,000
Fotsgadt N3 2,325 1,800 525
Al 2,325
206 M=l 2,325 1,800 525
Al 2,325
01 M=H| 2,325 1,800 525
Oog4s M=l 2,325,000 2,325
Al 2,325
HY2IHU(YEF1S) 102,727 39,696 63,031
ol 2| 74,151 9,920 64,231
FAEE 23| 74,151 9,920 64,231
101 elHH| 48,903 0 48,903
01 2 48,903 0 48,903
OAZIZ2E 21,303
=bg 9,796 x1H 27 Al 24123 3,174
SI= 8,312& x1H*27 Al 2Hx 128 2,694
o7g 7,457 2B *27 Al 2tx 128 4,833
=8 6,682 4B «27 Al 2tx 123 8,660
S = 5,993 x 1G *27 Al 2tx 128 1,942
OZUZAH| 130,000& 9 123 14,040
QOusSE x| 13,560
obg 140,000& x1H «12& 1,680
obE~7a 130,000& 3H 122 4,680
=8=~9= 120,000 x4 » 123 5,760
=J|=s88~10=2 120,000 «1H <128 1,440
203 AR F&H| 8,928 9,920 A992
01 JI22FHRF&HI 5,940 6,600 A 660
(OF=F 6,600,000 *1H *90% 5,940
02 HANMPRF=EHI 288 320 A32
OZ& A A& = 40,000 *8H *90% 288
04 SN2ILRFAHI 2,700 3,000 A 300
ORMZTEZE 250,000 * 122 *90% 2,700
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re o2 o
J¥ oz M
H0 HO

0R 02

O

SN S(B) - NRAY - B2 Aro B =2
0l &
204 R AH 16,320 0 16,320
01 Mg HRHEH| 1,800 0 1,800
ORI A2+ AY| 1,800
obhgz (I AE 150,000 *1E »12& 1,800
02 A2 X 14,520 0 14,520
(OFSF=gEN, 14,520
obg 250,000 x1H ~12& 3,000
SI= 155,000 x1H +12& 1,860
o7s 140,000& x2E » 123 3,360
=8=2~95 105,000 «6H «12& 6,300
=234l 28,576 29,776 A 1,200
FAMII2ZHI 28,576 29,776 A 1,200
201 LBt A 5,536 5,536 0
01 AtS 22l 5,536 5,536 0
OFM2E JIE2+EH 440,000 8 3,520
OJl2gesd =& 252,000 8% 2,016
202 O4Hl 23,040 23,040 0
01 =LA bl 23,040 23,040 0
OJl=gf+3 240,000 x8H 12 23,040
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SN @Fes
=0
L

A ITHX] D18 28 (FF28)
el ANE FDIME BY XA (sl &
A - HE - S9I(E) - NRAY - BYS 01l &t o Soe B RS2
28 259,985 180,288 79,697
Al 20,325
- 239,660
FORX DIBE 2P F28) 151,845 138,180 13,665
Al 20,325
- 131,520
HES FO0HEH &F =4 16,020 16,230 A210
2 EAI2ZE 16,020 16,230 A210
201 LetEIH| 16,020 16,230 A210
01 AtR22/H] 1,470 1,470 0
OsdJ 84 === 110,000& x12& 1,320
O&dJ| HIIEAM =22 150,000& 150
02 323l 14,550 14,760 A210
OoRER= 250,000& «12& 3,000
O&IIR= 550,000& «12& 6,600
O&.otekes 70,0003 x6& 420
OXtsxHAl 60,0002 «1CH 60
OXNsSHEE = 400,000 »1CH 400
O0IEXtEE = 65,0003 *2CH 130
ONSAHEMNERES 55,000& *23l 110
(OFak—=2-=D) FaE == 35,000& »22] 70
ORUETHEHIAIAE 100,000& «12& 1,200
Ost2x | X4 100,000& «12& 1,200
OO0IEX |4 30,000 x1CH*12& 360
Oz= =Aldl 1,000,000& 1,000
QXX 24 128,900 115,350 13,550
Al 18,000
- 110,900
ANMT g2 1,250 1,200 50
201 Let2d| 1,250 1,200 50
01 AtE22(Hl 1,250 1,200 50
OR3ANE g= MZH 1,250,000& 1,250
FUXX g 2435t 16,000 2,500 13,500
201 LEH2HH| 2,500 2,500 0
01 AtSR22|Hl 2,500 2,500 0
OFQUXNXAEE &S5 20,0003 25 +52 2,500
405 KH&HFESHI 13,500 0 13,500
01 T =SS HSHI 13,500 0 13,500
OAnL=XgE Xz & 2|
2,700,000& *5CH 13,500
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SN

SEFE

A FOXX JIEE 2D F25)
ool ZoIXiKIE 2 Hel
_ _ ME o
SN CHR(BIH) - HPAY - BAS aroy 01 &t on e
FOXXE T2 24,000 24,000 0
Al 18,000
- 6,000
201 2et2 4,000 4,000 0
Al 3,000
- 1,000
01 AtS2 4,000 4,000 0
Oo=al = 4,000,000& 4,000
Al 3,000
- 1,000
301 LprEal 18,000 18,000 0
Al 13,500
- 4,500
12 JIEtE 18,000 18,000 0
Oo=a 15,000,000& 15,000
Al 11,250
- 3,750
OFgl
3,000,000& 3,000
Al 2,250
- 750
405 AHeHESHI 2,000 2,000 0
Al 1,500
- 500
01 Atardd 2,000 2,000 0
Oo=a 23 =3+ 2,000,000& 2,000
Al 1,500
- 500
SEHEM 23 87,650 87,650 0
301 L2 A3 87,650 87,650 0
05 S-cl-tEEs24a3 87,650 87,650 0
Os&=¢ 82,000
ollgxg 200,000 #25Y 123 60,000
c&03 200,000 25 23| 10,000
o3| & A 20,0003 x25H 23| 128 12,000
Oogt&Esg 25,0002 113 23| 5,650
JHRGtD erA Gl 6,925 6,600 325
Al 2,325
- 4,600
HZe0t2E 600 800 A200
201 22 600 800 A 200
01 At 2 600 800 A 200
o=a 600,000& 600
HE Mgy 3,000 3,000 0
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SN @Fes
B F0ITR| I8 2 sHYF2S)
CHel: JHROID SEE SU 9SD)

SN I SRI(S) - NRAY - B 0fl b Soe B RS2
301 YptEaazg 3,000 3,000 0
04 HEHHUIA=2EHI 1,000 1,000 0
OlsgHHA2HHI 1,000,000& 1,000
12 JIEtEA S 2,000 2,000 0
OMOIs¢eHa2a 2,000,000& 2,000
=0lste K& 1,000 1,000 0
301 YptEasg 1,000 1,000 0
10 BAIAHIE A= 1,000 1,000 0
OXN= - st At A 2] 1,000,000& 1,000
FOEYAHI 2,325 1,800 525
Al 2,325
206 M=l 1,525 1,800 N2T5
Al 1,525
01 M=H| 1,525 1,800 N2T5
O gH9s4E s 1,525,000& 1,525
Al 1,525
405 XtobE SHI 800 0 800
Al 800
01 T =SS HSHI 800 0 800
O ¢H9EH s 74 800,000& 800
Al 800
HY 22U (Y=F28) 108, 140 42,108 66,032
el | 75,992 9,960 66,032
FA2E 23] 75,992 9,960 66,032
101 el H| 49,868 0 49,868
01 E& 49,868 0 49,868
OANZt 2RSS 22,028
obg 9,796 x1H+27 Al 2tx 123 3,174
SL= 8,312« 1H 27 Al 2tx 123 2,694
o7g 7,457 * 4G *27 A 2bx 128 9,665
=88 6,682 x3H «27 Al 2+x 123 6,495
OFAZAHI 130,000 9 122 14,040
QusE=xH] 13,800
obg 140,000& *1E »12& 1,680
cbE~Ts 130,000& «4H «12& 6,240
=8=2~92 120,000& 3~ 123 4,320
ollsig~7s 130,000 x1E « 122 1,560
203 ¥R =& 8,964 9,960 A 996
01 JI&2ZHRFL 5,940 6,600 A 660
os% 6,600,000 * 1 *90% 5,940
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SN YFE2S
BH: YHSEAY (YF2S)
chel: ol 2ot (cel @
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
02 HANMMIRF=EHI 324 360 A 36
O A A& 40,000 *9H *90% 324
04 SN2ILRFAHI 2,700 3,000 A 300
ORNMZEE2H 250,000 * 12 *90% 2,700
204 A=A 17,160 0 17,160
01 Mg HRHEH| 1,800 0 1,800
ONHMZ YR Y| 1,800
obzg (I AH) 150,000& *1E »12& 1,800
02 Az EXH 15,360 0 15,360
OXZE x| 15,360
obg 250,000 x1E «12& 3,000
S 155,000 x1H +12& 1,860
o7s 140,000 x4 123 6,720
=8=2~92 105,000 «3H «12& 3,780
Jl2ZHl 32,148 32,148 0
FAMIIEZH 32,148 32,148 0
201 LBt 3| 6,228 6,228 0
01 AtS 22l 6,228 6,228 0
ORM2ZI2+8Hl 440,000 9 3,960
OJl2gefsdz 2l 252,000& »9H 2,268
202 O4Hl 25,920 25,920 0
01 =LA bl 25,920 25,920 0
OJl=gd =304l 240,000 9= 12 25,920
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